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40 m
0.700 t
4.200 m
6.0 kN
GL = 0.396 m
14
Gh2 = 1.840 m
3.500 m
) 4500 m
3.000 m
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kN/m3
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kN/m2
kN/m2
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kN/m2

ock = 23.5 N/mm2

= 8 N/mm2
= 160 N/mm2
= 0.39 N/mm2
= 10 N/mm2
200 N/mm2
= 0.49 N/mmz2
= 12 N/mm2
= 300 N/mmz2
= 0.59 N/mm2

04 00400

osa) / ( Osa) 1875

11.0 cm









YcC 24.5 KN/m®

vc 23.0 kN/m®
Vs 18.6 kN/m®
YSwW 9.8 kN/m®
Ysw' 19.6 kN/m®
VW 9.8 kN/m?
KH 0.16
h 0.100 m
h 1130 m
h 0.100 m
| 3.43 kKN/m?
w 2.94 kKN/m?
11 cm
ock 23.50 N/mm?
1.00
1.25
150
N/mm2 N/mm2 N/mm2
oca 8.0 10.0 12.0
osa 160 200 300
Ta 0.39 0.49 0.59




( 1150 * 0400 * 0575 + 0350 * 0350 * 0.175 )
/ ( 1150 * 0400 + 0350 * 0.350 ) 0491 m



3500 * 4320 * 0.600 * 24.50 222.264 kN

0000 m 0.000 m
222264 * 0.16 35562 kN
5700 - 1/2 * 0.600 5400 m

176 *{ 155 * 3500 + ( 1550 + 0750 ) * ( 3.500

+ 1150 ) + 0750 * 1150 } * 0150 * 2 * 2450 20.804 kN
0.000 m 0.000 m
20.804 * 0.16 3329 kN

4950 + 2/3 * 0150 5.050 m



( 1150 * 0400 + 0350 * 0.350 )
0491 - 1/2 * 1150

141285 * 0.16

172 * 4950

0800 * 0350 * 1660 * 2300 * 2

1/2* 1150 - 1/2 * 0.800

21.381 * 0.16

172 * 1660

1820 * 3200 * 0350 * 24.50

1/2 *0350 - 1/2 * 1150

49941 * 0.16
172 * 3200

* 4950 * 2450 * 2 141.285
-0.084

22.606

2.475

21.381

0.175

3421

0.830

49.941

-0.400

7.991
1.600

kN

kN

kN

kN

kN

kN

m
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Ka=AL/[A2*{1+~/(A3/A4)}?]
Al= cos’(p-©)
= cos 2( 3000 - 0.0 )
A2= cos’@ *cos (O +3)
= cos? 000 * cos (000 + 1000 )
A3=sin(@@+d)*sin(-a)
@-a<0 sin @-aoa =0
@-a= 3000 - 2650
@-Aa

sin (3000 + 10.00 )* sin 3.50
cos(O@+d)*cos (O - a)
cos( 000 + 10.00 )*cos( 000 - 2650 )

A4

Ka= 0750 /[ 0985 *{1+~/( 0039 / 0881)}?]

)
Kea=Al'/[A2' *{1+~/(A3 /A4 )}1?]
Al'= cos?(-6,-6)
= cos?( 3000 - 909 - 000 )
A2'= cos ©,* cos O *cos (O + O, + Se)
= cos 9.09 *cos? 000 * cos( 000 + 9.09 + 0.00 )
A3 =sin(p+de)*sin(p-aoa-6,)
@ a B6,<0
SN a 6, 0
@ o O, 3000 - 2650 - 9.09
A3'= sin (3000 + 000 )*sin( 000 )
Ad=cos(O+O;+de)*cos (O -a)
cos ( 000 + 909 + 000 )*cos( 000 - 2650 )

Kea= 0873 /[ 0975 *{1+~/( 0000 / 0884)}?]

30.00

26.50

0.00

10.00

0.00
9.09

0.750

0.985

3.50

3.50

0.039

0.881

0.520

0.873

0.975

-5.590
0.000

0.884

0.895



A\ 18.600 kN/m3

ysat 19.600 kN/m3
VSwW 9.800 kN/m3
KH'
KH" (y *h+wysat*hw)/ (y *h+ysw™>hw)*KH
3100 m
( 0.100 m
Y *h+wysat*hw 18600 * 3.100 + 19.600 * 0.100 59.620
Y *h+ysw*hw 18.600 * 3.100 + 9.800 * 0.100 58.640
KH' 59.620 / 58.640 * 0.160 0.163
9, tan-1 H 0.163 9.26
Kea' = Al' /[A2 *{1+~/(A3 /A4 )}?]
Al'= cos?(-6,-6)
= cos?( 3000 - 9.26 - 0.00 ) 0.875
A2'= cos B, * cos ‘O *cos (O + B, + Se)
= cos 926 *cos? 000 * cos( 000 + 926 + 0.00 ) 0.974
A3 =sin(p+de)*sin(p-a-6y)
@ a 6
SN @ a 6 0
@ o O, 3000 - 2650 - 9.6 -5.760 <=
A3'= sin (3000 + 000 )*sin( 000 ) 0.000
Ad=cos(O+O,+Se)*cos (O -a)
= cos( 000 + 926 + 000 )*cos( 000 - 2650 ) 0.883

Kea'= 0875 /[ 0974 *{1+~/( 0000 / 0883)}?] 0.898
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( ) Vs 18.600 kN/m3
( ) YSW 9.800 kN/m3
H1 3100 m
H2 0.100 m
plL  ys * Ka * HL * B
1860 * 0520 * 3.100 * 3.320 99.544 kN
( )
p2'  ysw * Ka * H2 * B
980 * 0520 * 0.100 * 3.320 1692 kN
(kN/m) (m) (kN) (m) (kN m)
99.544 * 3100 / 2 154.293 1.133 174814
99.544 * 0.100 9.954 0.050 0.498
1692 * 0100 / 2 0.085 0.033 0.003
164.332 175.315
164.332 kN
> /= 1.067 m
( ) Y'S 18.60 kN/m3
( ) VSW 9.80 KN/m3
H1 2070 m
H2 1130 m
pl Ys* Ka * HL * B
1860 * 0520 * 2070 * 3.320 66.470 kN
( )
p2' wysw * Ka * H2 * B
980 * 0520 * 1130 * 3.320 19.118 kN
(kN/m) (m) (kN) (m) (kN m)
66.470 * 2.070 / 2 68.796 1.820 125.209
66.470 * 1.130 75.111 0.565 42438
19118 * 1130 / 2 10.802 0.377 4.072
154.709 171.719
154.709 kN
> /= 1110 m



( Vs 18.60 kN/m3
( YSW 9.80 kN/m3
H1 3.100 m
H2 0.100 m
pl Yys * Kea * H1L * B
1860 * 0.895 * 3.100 * 3.320 171.331 kN
(
p2' ysw * Kea' * H2 * B
980 * 0898 * 0100 * 3.320 2.922 kN
(kN/m) (m) (kN) (m) (kN m)
171331 * 3100 / 2 265.563 1.133 300.883
171331 * 0.100 17.133 0.050 0.857
2922 * 0100 / 2 0.146 0.033 0.005
282.842 301.745
282.842 kN
/= 1.067 m



( ) 0100 m

1/2 * yw * "2 * B

1/2 * 980 * 010072 * 3.320

1/3 * 0.100

( ) 1130 m

1/2 * yw * "2 * B

1/2 * 980 * 113072 * 3320

173 * 1130

( ) 0100 m

1/2 * yw * "2 * B

1/2 *980 * 010072 * 3.320

1/3 * 0.100

3500 * 4320 * 343
0.000 m

6.00 kN
( 039% + 0350 ) - 1/2 * 1150

6.00 * 0.16
5.700

0.163 kN

0.033 m

20.773 kN

0.377 m

0.163 kN

0.033 m

51.86 kN
0.000 m

6.00 kN
0171 m

0.96 kN
5700 m



140 tf * 98
( 039% + 035 ) - 1/2 * 1150

1372 * 0.16
1/72* 1840

125 tf * 98 * { 3500 * 4320 / ( 3500 * 4500 )}

11760 * 0.16

0.000
5.700

4200 m
400 m 070 tf)

070 tf * 98 *( 4200 * 1/ 4.000 )

720 * 1/2

720 * 0.16

3500 * 1/2
5.700

1372 kN
0171 m

2.20 kN
0.920 m

117.60 kN

18.82 kN

0.000 m
5700 m

7.2 kN
3.6 kN

1.15 kN

-1.750 m
5700 m



4.320
5.700

0.750
3.200

4.320
5.700

0.600 * 294
172 * 0.600

1900 * 294 * 2
172 * 1900

3.000 * 294

7.62 kN
5400 m

8.38 kN
4150 m

38.10 kN
5700 m



222.26 0.000 0.00
20.80 0.000 0.00
141.29 -0.084 -11.87
21.38 0.175 3.74
49.94 -0.400 -19.98
164.33 1.067 175.34
0.16 0.033 0.01
51.86 0.000 0.00
6.00 0171 1.03
13.72 0171 2.35
117.60 0.000 0.00
3.60 -1.750 -6.30
648.45 -31.03 164.49 175.35
172*( -31.03 + 175.35 = 72.16 KN m
N=1/2* 648.45 = 324.23 kN
S=17/72~* 164.49 = 82.25 kN



222.26 0.000 0.00
20.80 0.000 0.00
141.29 -0.084 -11.87
21.38 0.175 3.74
49.94 -0.400 -19.98
154.71 1.110 171.73
20.77 0.377 7.83
51.86 0.000 0.00
6.00 0.171 1.03
13.72 0171 2.35
117.60 0.000 0.00
3.60 -1.750 -6.30
7.62 5.400 41.15
8.38 4.150 34.78
38.10 5.700 217.17
648.45 -31.03 229.58 472.66
M=1/72~*( -31.03 + 47266 ) = 220.82 kN m
N=1/2* 648.45 = 324.23 kN
S=17/72~* 22958 = 114.79 kN



222.26 0.000 0.00 35.56 5.400 192.02

20.80 0.000 0.00 3.33 5.050 16.82

141.29 -0.084 -11.87 22.61 2.475 55.96

21.38 0.175 3.74 3.42 0.830 2.84

49.94 -0.400 -19.98 7.99 1.600 12.78

282.84 1.067 301.79

0.16 0.033 0.01

6.00 0171 1.03 0.96 5.700 5.47

13.72 0171 2.35 2.20 0.920 2.02

117.60 0.000 0.00 18.82 5.700 107.27

3.60 -1.750 -6.30 115 5.700 6.56

596.59 -31.03 379.04 70354

=17 2*( -31.03 + 70354 ) = 336.26 kN m

N=1/2* 596.59 = 298.30 kN
S=17/72~* 379.04 = 189.52 kN



d=h-d'
As
e = M/
ocC
oS
TC S/(b*d)
oca
osa
Tca

kKN m
kN
kN
mm
mm
mm
mm
mm2

mm

mm2

mm

mm
N/mm?
N/mm?
N/mm?
N/mm?
N/mm?

N/mm?

72.160

82.250

324.230

400

1150

110

1040

-705

D22

2

774

223

1054

1.5

0.20

8.0

160

0.39

220.820
114.790
324.230
400
1150
110
1040

305

D22
2

774

681

413
5.0

114

0.28
10.0
200

0.49

336.260

189.520

298.300

400

1150

110

1040

673

D22

2

774

1127

318

8.0

273

0.46

12.0

300

0.59
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